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1. BIEHTLMEACES BPMRFGH—HRMRE (B )
A. void. define, WORD B. A3 B3, 123, abc
C. FOR,. -abc. Case D. 2a. Do. Sizeof

2. i&BiHEE: charw; int x; float y; double z;
N RXZHw*x+z-yEREIREE A (D )

A. float B.char C.int D. double
3. BENA[[2]={1,2,3,4,5,6,7}; NMaBAHTHXK/NE (C
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—. HEH (cont'd )

4. f1Ra=3,b=2,c=1,WTFIFRXXHMENONZ (C )

A. a>b B. (a>b)==c C. b+c<a D. c=a>b

5. HiTiEAIchar str]="ab\tde\\fg\n”;printf( “%d” ,strlen(str));5%4 ( B )
A.12 B.9 C. 14 D. 10

6. BUITER, MAKIE: 12345M678<cR>/5 (<CR>%&REIE) , xHEZ(A)
#include<stdio.h>

int main(){

int x; float y;

scanf("%6d%f",&x,&y); return 0;}

A, 12345 B, 12345M C., 123456 D. 345

CREFPBCIT) -2024%K 2



— . EEB (cont'd )

7. BUAITER
#include<stdio.h>
int main()
{ intx=1,y=0,a=1,b=1;
switch(x){
case 1: switch(y){
case 0:b++; break;
case 1:a++;}
case 2: b++;
case 3. at+;

}
printf("a=%d,b=%d",a,b); return 0O;

}
ZREFREHERZCC)
A, a=3,b=3 B, a=1,b=3 C. a=2,b=3 D. a=1,b=2
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8. UTEEHRITESsumBER: (D)

#include<stdio.h>

int main( )

{
int 1,sum;
for (i=1;i<6;i++) sum+=i;
printf("%d\n",sum);

return O;

}
A.15 B.14 C).0 D.AH=E
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1. AN T AL i i 02 _2+4+8+16+32+64+128=256

#include<stdio.h>
int main( )
{
int a,s,n,count;
a=2;
s=0;
n=1;
count=1;
while(count<=7{
n=n*a;
S=s+n;
++count;
}
printf("s=%d",s);
return O;
} (BT -2024%K



i:\ TR (cont'd )

2. NIRRT Amt 25, 1, -1
#include<stdio.h>
int main()

{

int a=1,b=5,c=4;

while(c-->0&&++a<6)
b=b-1;

printf("%d,%d,%d\n",a,b,c);

return 0;
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3. R TMNHREFPIIERRPMITENEARER: | B B 2gE M KB NHEF
#include <stdio.h> 9066 58342219117 3 -

int main(void) 5
{ int n=10, i, j, t, a[10]={7,3,66,-5,22,90,34,11,58,19};
for(i=1;i<n;i++)
for (j =0;j < n-i; j++)

if (afj] < a[j+1])
{
t=a[j];
afj]=a[j+1];
afj+1]=t;
}

for(i=0; i<n; i++)
printf("%3d",a[i]);
return O;
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4. H NIRRT S B g5 R W=
#include<stdio.h> 1
int main() 11
{ intarr[5][5]={0};inta=1;intb =1; 192 1
for(a=0; a<9;a++){
arr[a][0] = 1; ] 2 g 1 1
for (b = 0; b <=a; b++){

if(a==Db) arr[a][b] = 1;
if(a>1 && b>=1)
arr[a][b] = arr[a - 1][b - 1] + arr[a - 1][b];
printf(“%d ”, arr[a][b]);
}
printf("\n");
}

return O;

}
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